Best model for HELP J115247.129-015027.785 at z = 0.718 x2=1.71
OPTx2=2.15 IRx?=0.32 threshold (OPT IR)=13.74 [um]

Stellar attenuated
fffff Stellar unattenuated

2
10 E —— Dust emission
—— AGN emission
J = Model spectrum
101 3 e Model fluxes
E [ Observed fluxes
100 5

Flux [m])y]

mfe= (Obs-Mod)/Obs

I
=

T T L T L T T L | T T EM
10° 10! 107 103 104 A
Observed wavelength [um]

Relative residual flux.

o
1

1

1

1

]
]
]
I
I

I

1 I

L |

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1



